
Amnë`mbm R>mD$H$ Amho H$s AmnU g§»`m _moOm`bm gwédmV H$aVmo Voìhm AmnU 1, 2, 3,

4,... Mm Cn`moJ H$aVmo. A§H$ gwê$ H$aVmZm `m g§»`m Amnë`m S>moù`m§g_moa òVmV. åhUyZ
J{UVVÁk `m _moOg§»`m§Zm (Counting Numbers) Z¡g{J©H$ g§»`m (Natural

Numbers) åhUVmV.

_mJMr (AmYrMr) g§»`m Am{U nwT>Mr g§»`m

{Xboë`m Z¡g{J©H$ g§» òV 1 {_idbm Va Vwåhm§bm nwT>Mr Z¡g{J©H$ g§»`m {_iob. åhUOoM Vwåhr
{VMr nwT>Mr g§»`m (successor) {_idy eH$Vm.
16 Mr nwT>Mr g§»`m 16 + 1 = 17, 19 Mr 19 +1 = 20 Amho Am{U AemàH$mao nwT>o Mmby

amhrb.
16 hr g§»`m 17 `m g§» òÀ`m AmYr òVo. AmnU åhUy eH$Vmo H$s 17 Mr _mJMr g§»`m

Amho. (predecessor) 17–1=16 Amho 20 Mr 20 – 1 = 19 Amho.

1. 19, 1997, 12000, 49, 100000, 2440701, 100199 Am{U 208090 À`m _mJÀ`m
Am{U nwT>À`m g§»`m {bhm.

2. Aer H$moUVr Z¡g{J©H$ g§»`m Amho H$s {Obm _mJMr g§»`m Zmhr?
3. Aer H$moUVr Z¡g{J©H$ g§»`m Amho H$s {Obm nwT>Mr g§»`m Zmhr? eodQ>Mr Z¡g{J©H$ g§»`m H$moUVr?

3 `m g§» òbm EH$ _mJMr g§»`m d EH$ nwT>Mr g§»`m Amho. 2 ~X²Xb Vwåhm§bm H$m` dmQ>Vo?
`mMr nwT>Mr g§»`m 3 Amho Am{U _mJMr g§»`m 1 Amho. 1 `m g§» òbm _mJMr Am{U nwT>Mr
XmoÝhr g§»`m AmhoV H$m?

2.1 àñVmdZm

àH
$aU

 2

nyU© g§»`m

à¶ËZ H$am
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AmnU Amnë`m emioVrb _wbm§Mr g§»`m _moOy eH$Vmo. AmnU EImXçm
ehamV amhUmè`m ì`ŠVtMr g§»`m _moOy eH$Vmo. AmnU ̂ maVmV amhUmè`m
bmoH$m§Mr g§»`m nU _moOy eH$Vmo. g§nyU© OJmVrb bmoH$m§Mr g§»`m nU
_moOVm òB©b. H$Xm{MV AmnU AmH$memV {XgUmao Vmao qH$dm Amnë`m
S>moiçm§darb Ho$g _moOy eH$Uma Zmhr na§Vw Oa _moOmdo bmJbo Va
Ë`mgmR>rXoIrb EH$ g§»`m AgobM. _J AmnU Ë`m g§» òV 1 {_idyZ
AmUIr _moR>r g§»`m {_idy eH$Vmo. Aem nX²>YVrZo AmnU XmoZ ì`ŠVtÀ`m
S>moiçmdarb Ho$g _moOyZ Ë`m§Mr g§»`m {bhÿ eH$Vmo.

AmVmn ª̀V ho ñnîQ> Pmbo Aer gdmªV _moR>r Z¡g{J©H$ g§»`m H$moUVrhr Zmhr. darb àíZm§ì`{V[a³V
Ooìhm Amnë`mbm Z¡g{J©H$ g§»`m dmnamì`m bmJVmV, Voìhm Amnë`mg_moa AZoH$ àíZ ̀ oVmV. Vwåhr
Aem àíZm§~m~V {dMma H$am Am{U {_Ìm§~amo~a MMm© H$am. Vwåhr ̀ m n«íZm§_Yrb AZoH$m§Mr CËVao H$mTy>
eH$Uma Zmhr.

2.2     nyU© g§»`m

AmnU nm{hbo Amho H$s Z¡g{J©H$ g§»`m 1 À`m _mJMr g§»`m Zmhr. 0 bm AmnU Z¡g{J©H$ g§»`mÀ`m
_mJMr g§»`m åhUyZ _mZVmo.

Z¡g{J©H$ g§»`m eyÝ`À`m ~amo~a KoVë`mg nyU© g§»`m g§M (Whole numbers) ~ZVmo.

1. gd© Z¡g{J©H$ g§»`m `m nyU© g§»`mXoIrb AmhoV H$m?

2. gd© nyU© g§»`m `m Z¡g{J©H$ g§»`m AmhoV H$m?

3. gdmªV bhmZ nyU© g§»`m H$moUVr?

4. gdmªV _moR>r nyU© g§»`m H$moUVr?

`m nyduÀ`m B`ËVm§_Ü ò Vwåhr nyU© g§»`mdarb gd© _yb ŷV {H«$`m Ogo H$s- ~oarO, dOm~mH$s,
JwUmH$ma Am{U ^mJmH$ma H$aUo {eH$bm AmhmV. Vwåhr hohr OmUVm H$s `m§Mm CËVa H$mT>Ê`mgmR>r
H$emàH$mao Cn`moJ Ho$bm OmVmo. Mbm Va AmVm `m {H«$`m EH$m g§»`maofoda H$ê$`m. na§Vw Ë`mAmYr
"g§»`maofm' ~X²Xb OmUyZ KoD$`m.

2.3 g§»`maofm

EH$ aofm H$mT>m. Ë`mda EH$ q~Xy ¿`m. Ë`m q~Xybm "0' {ZX}em§H$ Xçm. 0 À`m COdrH$S>o AmUIr EH$
q~Xy H$mT>m. Ë`mbm 1 {ZX}em§H$ Xçm.

à¶ËZ H$am
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0 Am{U 1 `m_Yrb A§Vambm 1 EH$H$ A§Va (unit distance) åhUVmV. `m aofoda 1 À`m
COdrH$S>o 1 EH$H$ A§Vamda q~Xy H$mT>m Am{U 2 {ZX}em§H$ Xçm. AemàH$mao Vwåhr g§»`maofoda EH$
EH$H$ A§Vamda q~Xy§Zm 3, 4, 5,....... ̀ m à_mUo {ZX}{eV H$am. Vwåhr COì`m ~mOyZo H$moUË`mhr nyU©
g§» òn ª̀V OmD$ eH$Vm.

Imbr {Xbobr aofm nyU© g§»`m§gmR>r g§»`maofm Amho.

{~§Xy 2 Am{U 4 _Yrb A§Va {H$Vr Amho? ho A§Va {ZpíMVM 2 EH$H$ Amho. Vwåhr q~Xy 2 Am{U
6 VgoM 2 Am{U 7 _Yrb A§Va gm§Jy eH$Vm H$m?

g§»`maofoda Vwåhr nmhÿ eH$Vm H$s 7 hr g§»`m 4 `m g§» òÀ`m COì`m ~mOybm Amho Am{U 7
hr g§»`m 4 nojm _moR>r Amho åhUOoM 7 > 4 Amho. 8 hr g§»`m 6 À`m COì`m ~mOybm Amho
Am{U 8 > 6 Amho. `m Ñí`m§À`m AmYmao AmnU åhUy eH$Vmo H$s XmoZ nyU© g§»`m§_Ü ò Or g§»`m
aofoda BVa g§»`m§À`m COdrH$S>o AgVo Vr _moR>r AgVo. AmnU Agohr åhUy eH$Vmo H$s S>mì`m
~mOybm AgUmè`m nyU© g§»`m bhmZ AgVmV. CXmhaUmW©, 4 < 9 Amho. 4 hr 9 À`m S>mdrH$S>o
Amho `mMàH$mao, 12 > 5. 12 hr 5 À`m COdrH$S>o Amho.

Vwåhr 10 Am{U 20 ~X²Xb gm§Jy eH$Vm H$m?

30, 12 Am{U 18 `m§Mo g§»`maofoda ñWmZ nhm. H$moUVr g§»`m gdmªV S>mdrH$S>o Amho? Vwåhr
1005 Am{U 9756 ~X²Xb gm§Jy eH$mb H$m H$s H$moUVr g§»`m Xwgè`m g§» òÀ`m COdrH$S>o
Amho? g§»`maofodarb 12 Z§VaMr Am{U 7 nyduMr g§»¶m gm§Jm.

g§»`maofoda ~oarO

nyU© g§»`m§Mr ~oarO g§»`maofoda XmIdVm òVo. Mbm 3 Am{U 4 Mr ~oarO nmhÿ̀ m.

~mUmÀ`m Q>moH$mbm q~Xy 3 Amho. 3 nmgyZ gwédmV H$am. Amnë`m `m g§» òV 4 {_idm`Mo
AmhoV åhUyZ AmnU COdrH$S>o da XmI{dë`mà_mUo 4 nmdbo 3 Vo 4, 4 Vo 5, 5 Vo 6 Am{U
6 Vo 7 OmD$. nmdbmÀ`m eodQ>r ~mUmÀ`m {Xeobm q~Xy 7 Amho. `màH$mao 3 Am{U 4 Mr ~oarO
7 åhUOoM 3 + 4 = 7.

g§»`maofoda dmna H$ê$Z 4 + 5; 2 + 6; 3 + 5 Am{U 1 + 6 H$mT>m.

à¶ËZ H$am
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dOm~mH$s -     XmoZ nyU© g§»`m§Mr dOm~mH$sXoIrb g§»`maofoda XmIdVm òVo. Mbm 7 – 5 ho
H$mTy>̀ m.

~mUmÀ`m Q>moH$mbm q~Xy 7 Amho. 7 nmgyZ gwédmV H$am. Amnë`mbm 5 H$_r H$am`Mo AmhoV åhUyZ
AmnU S>mdrH$S>o 1 EH$H$mMr 5 nmdbo OmD$`m. AmnU q~Xy 2 da nmohmoMy. Amnë`mbm 7 – 5 = 2

ho {_iVo.

g§»`maofoMm dmna H$ê$Z 8 – 3; 6 – 2 Am{U 9 – 6 H$mT>m.

JwUmH$ma … AmVm AmnU g§»`maofoda nyU© g§»`m§Mm JwUmH$ma nmhÿ̀ m.

Mbm, 4 × 3 = {H$Vr ho H$mTy>.

0 nmgyZ gwédmV H$am Am{U COdrH$S>o EH$Xm 3 EH$H$m§n ª̀V Mbm. AemàH$mao 4 doim Om.
Vwåhr H$moR>o nmoMbmV? Vwåhr 12 da nmohmoMbmV. åhUyZ AmnU åhUVmo H$s, 4 × 3 = 12.

g§»`maofoMm dmna H$ê$Z 2 × 6; 3 × 3 Am{U 4 × 2 H$mT>m.

  CXmhaUg§J«h 2.1

1. 10999 À`m Z§Va òUmè`m VrZ Z¡g{J©H$ g§»`m {bhm.
2. 10001 À`m bJVMr AmYr Z¡g{J©H$ g§»`m {bhm.
3. gdmªV bhmZ nyU© g§»`m H$moUVr?
4. 32 Am{U 53 À`m Xaå`mZ {H$Vr nyU© g§»`m AmhoV?
5. Imbrb g§»`m§À`m nwT>rb g§»`m {bhm.

(a) 2440701 (b) 100199 (c) 1099999 (d) 2345670

6. Imbrb g§»`m§À`m _mJrb g§»`m {bhm.
(a) 94 (b) 10000 (c) 208090 (d) 7654321

7. Imbr {Xboë`m g§»`m§À`m OmoS>çm§n¡H$s àË òH$ OmoS>rVrb H$moUVr nyU© g§»`m g§»`maofoda Xwgè`m
g§» òÀ`m S>mdrH$S>o Amho ho Ë`m§À`m_Ü ò `mo½` {MÝhm§Mm (>, <) Cn`moJ H$ê$Z XmIdm.
(a) 530, 503 (b) 370, 307

(c) 98765, 56789 (d) 9830415, 10023001

à¶ËZ H$am

à¶ËZ H$am
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8. Imbrb {dYmZm§n¡H$s H$moUVr {dYmZo gË` Am{U H$moUVr AgË` AmhoV?
(a) eyÝ` hr gdmªV bhmZ Z¡g{J©H$ g§»`m Amho.
(b) 400 hr 399 À`m AmYrMr g§»`m Amho.
(c) eyÝ` hr gdmªV bhmZ nyU© g§»`m Amho.
(d) 600 hr g§»`m 599 À`m nwT>Mr g§»`m Amho.
(e) gd© Z¡g{J©H$ g§»`m `m nyU© g§»`m AmhoV.
(f ) gd© nyU© g§»`m `m Z¡g{J©H$ g§»`m AmhoV.
(g) XmoZ A§H$s nyU© g§» òÀ`m AmYrMr g§»`m H$Yrhr EH$ A§H$s AgV Zmhr.
(h) 1 hr gdmªV bhmZ g§»`m Amho.
(i) 1 `m Z¡g{J©H$ g§» òÀ`m AmYr H$moUVrhr g§»`m Zmhr.
(j) 1 `m nyU© g§» òÀ`m AmYr H$moUVrhr g§»`m ZgVo.
(k) 13 hr nyU© g§»`m 11 Am{U 12 `m g§»`m§À`m Xaå`mZ òVo.
(l) 0 `m nyU© g§» òÀ`m AmYr H$moUVrhr g§»`m ZgVo.
(m) XmoZ A§H$s g§» òÀ`m nwT>rb g§»`m Zoh_r XmoZ A§H$s g§»`mM AgVo.

2.4 nyU© g§»`m§Mr d¡{eîQ>ço

Ooìhm AmnU nyU© g§»`m§darb {d{dY {H«$`m§Mm OdiyZ Aä`mg H$aVmo Voìhm Amnë`mbm AZoH$
d¡{eîQ>ço H$iVmV. ̀ m d¡{eîQ>çm§Mm Cn`moJ ̀ m g§»`m Mm§Jë`màH$mao g‘OÊ¶mgmR>r hmoVmo. VgoM, ̀ m
d¡{eîQ>çm§_wio AZoH$ {H«$`m gmoß`mXoIrb hmoVmV.

Vw_À`m dJm©Vrb àË òH$ {dXçmÏ`m©bm H$moUË`mhr XmoZ nyU© g§»`m§Mr ~oarO H$am`bm gm§Jm.
Ë`m§Mo CËVa àË òH$ doiog nyU© g§»`mM Ambo H$m? Vw_À`m ~oaOm nwT>rbà_mUo Agy eH$VmV.

nyU© g§»`m§À`m Aem 5 OmoS>çm KoD$Z ~oaOm H$am. àË òH$ ~oarO EH$ nyU© g§»`mM òVo H$m?

Vwåhm§bm nyU© g§»`m§Mr Aer OmoS>r {_imbr H$m H$s Á`mMo CËVa nyU© g§»`m òV Zmhr? Aem
H$moUË`mhr XmoZ nyU© g§»`m {_iUma Zmhr Á`m§Mo CËVa nyU© g§»`m ZgVo. AmnU åhUVmo H$s XmoZ nyU©
g§»`m§Mr ~oarO EH$ nyU© g§»`mM AgVo. nyU© g§»`m§À`m ~oaOoVyZ nyU© g§»`mM {_iVo åhUyZ nyU©
g§»`mg§M ~oaOo_wio g§d¥ËV (Closed) ~ZVmo. ̀ mbm nyU© g§»`m§À`m ~oaOoMm g§d¥ËVVoMm  (Closure

property) JwUY_© åhUVmV.

7 + 8 = 15, EH$ nyU© g§»¶m

5 + 5 = 10, EH$ nyU© g§»¶m

0 + 15 = 15, EH$ nyU© g§»¶m

. + . = …

. + . = …

ho H$am
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nyU© g§»`m JwUmH$mamÀ`m ÑîQ>rZoXoIrb g§d¥ËV AmhoV H$m? Vwåhr `mMm nS>Vmim H$emàH$mao KoD$
eH$Vm?

Vw_Mo JwUmH$ma Imbrb àH$mao Agy eH$VmV.

XmoZ nyU© g§»`m§Mm JwUmH$maXoIrb EH$ nyU© g§»`mM AgVo. åhUyZ AmnU åhUy eH$Vmo H$s, nyU©
g§»`mg§M JwUmH$mamÀ`m ÑîQ>rZo nyU© g§»`mg§M g§d¥ËV (Closed) Amho.

g§d¥ËVVoMm JwUY_© -     nyU© g§»`m `m ~oarO VgoM JwUmH$mamgmR>ro g§d¥ËV (Closed) AgVmV.

{dMma H$am, MMm© H$am Am{U {bhm.

1. nyU© g§»`m dOm~mH$sgmR>r g§d¥ËV ZgVmV H$m?
Vwåhr Ho$boë`m dOm~mH$s Imbrb àH$maÀ`m Agy eH$VmV.
Vwåhr _ZmZo H$mhr CXmhaUo Xçm Am{U darb {dYmZmMo g_W©Z H$am.

2. ^mJmH$mamÀ`m ÑîQ>rZoo nyU© g§»`m g§d¥ËV ZgVmV H$m?
Imbrb VŠVm nmhm.

Vwåhr _ZmZo H$mhr CXmhaUo ¿`m Am{U darb {dYmZmMo g_W©Z H$am.

7 × 8 = 56, EH$ nyU© g§»¶m

5 × 5 = 25, EH$ nyU© g§»¶m

0 × 15 = 0, EH$ nyU© g§»¶m

. × . = …

. × . = …

6 – 2 = 4, EH$ nyU© g§»¶m

7 – 8 = ?, EH$ nyU© g§»¶m Zmhr

5 – 4 = 1, EH$ nyU© g§»¶m

3 – 9 = ?, EH$ nyU© g§»¶m Zmhr

8 ÷ 4 = 2, EH$ nyU© g§»¶m

5 ÷ 7 =
5

7
, EH$ nyU© g§»¶m Zmhr

12 ÷ 3 = 4, EH$ nyU© g§»¶m

6 ÷ 5 =
6

5
, EH$ nyU© g§»¶m Zmhr



nyU© g§»¶m

35

eyÝ`mZo ^mJUo

EH$m g§» òZo ^mJUo `mMm AW© hmoVmo H$s Vr g§»`m dma§dma dOm H$aUo.
Mbm 8 ÷ 2 gmoS>dy.
8 _YyZ 2 nwÝhmnwÝhm dOm H$am.

8

– 2 ........ 1

6

– 2 ........ 2

4

– 2 ........ 3

2

– 2 ........ 4

0

hr nX²YV dmnê$Z 24 ÷ 8 Am{U 16 ÷ 4 gmoS>dm.

Mbm, AmVm 2 ÷ 0 ho gmoS>dÊ`mMm à`ËZ H$ê$.
2

– 0 ........ 1

2

– 0 ........ 2

2

– 0 ........ 3

2

– 0 ........ 4

2

Mbm, 7 ÷ 0 gmoS>dÊ`mMm à`ËZ H$ê$.
7

– 0 ........ 1

7

– 0 ........ 2

7

– 0 ........ 3

7

nyU© g§»`m§Zm eyÝ`mZo ^mJ XoVm òV Zmhr.  (eyÝ¶mZo ^mJmH$ma Aì¶m»¶o¶ Amho)

{H$Vr doim dOm Ho$ë`mda AmnU 0 n ª̀V
nmohmoMVmo?
= Mma doim
åhUyZ, AmnU 8 ÷ 2 = 4 {b{hVmo.

àË òH$ doir dOm H$ê$Zhr Amnë`mbm nwÝhm
2 M {_iVmV. hr {H«$`m H$Yr g§nob H$m?
Zmhr.

AmnU Ago åhUVmo H$s, 2 ÷ 0 ho
gm§JVm òV Zmhr.

nwÝhm Amnë`mbm dOm~mH$sÀ`m H$moUË`mhr
Q>ßß`mda 0 {_iV Zmhr.

AmnU Ago åhUVmo H$s, 7 ÷ 0 ho
gm§JVm òV Zmhr.
5 ÷ 0 Am{U 16 ÷ 0 gmR>r gmoS>dyZ nmhm.
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~oarO Am{U JwUmH$mamÀ¶m H«$_{ZanojVoMm JwUY_©
g§»`maofoMr Imbrb {MÌo H$m` gm§JVmV? XmoÝhr pñWVt_Ü ò AmnU 5 da nmohmoMVmo.

åhUyZ 3 + 2 = 2 + 3 XmoÝhrMo CËVa EH$M åhUOo 5 òVo.
AemM nX²YVrZo 5 + 3 Am{U 3 + 5 XmoÝhr g_mZ òVo.

AemàH$mao, 4 + 6 Am{U 6 + 4 Mr CËVao H$mT>Ê`mMm à`ËZ H$am. Ooìhm
AmnU XmoZ g§»`m§Mr ~oarO H$aVmo Voìhm H$moUVrhr Aer OmoS>r {_iV Zmhr
H$s Á`mV g§»`m§Mm H«$_ ~XbyZ doJdoJir CËVao òVrb.

AmnU XmoZ nyU© g§»`m§Mr ~oarO H$aVmZm H$moUVmhr H«$_ R>ody eH$Vmo.

nyU© g§»`m§gmR>r ~oaOoMm H«$_ ~Xb bmJy Amho, Ago AmnU åhUVmo. `mbmM ~oaOoMm

H«$‘{ZanojVoMm JwUY_© åhUVmV.

Vw_À`m {_Ìm§~amo~a MMm© H$am.

Vw_À`m KamV EH$ N>moQ>m CËgd Amho.
Vwåhr nmhþÊ`m§gmR>r IwÀ`mªÀ`m 6 Amoir
_m§S>Vm, Á`mV àË òH$ AmoirV 8 IwÀ`m©
AmhoV. Imobr BVH$s é§X Zmhr H$s Ë`mV
8 IwÀ`mªMr Amoi ~gob. åhUyZ Vwåhr
{ZU©̀  KoVm H$s, 8 Amoir ~ZVrb àË òH$s 6 IwÀ`mªÀ`m. Vwåhm§bm AmUIr IwÀ`mªMr JaO nS>ob
H$m?

JwUmH$mam_Ü ògwX²Ym H«$_~XbmMm JwUY_© AgVmo H$m? 4 Am{U 5 `m g§»`m§Zm doJdoJiçm

H«$_mZo JwUm. Vwåhm§bm H$iob H$s, 4 × 5 = 5 × 4 Amho.

Vwåhr XmoZ nyU© g§»`m§Mm H$moUË`mhr H«$_mZo JwUmH$ma H$ê$ eH$Vm.

nyU© g§»`m§gmR>r JwUmH$ma H«$_~Xb bmJy hmoVmo, Ago AmnU åhUVmo.
AemàH$mao nyU© g§»`m§gmR>r, ~oarO Am{U JwUmH$ma ¶m XmoÝhr ‘Ü¶ohr

H«$_~Xb H$aVm òVmV.
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nS>Vmim ¿`m

(i) nyU© g§»`m§gmR>r dOm~mH$s H«$_~XbmZo g_mZ hmoV Zmhr `mMm nS>Vmim KoÊ`mgmR>r VrZ

dOm~mH$s H$am.

(ii) (6 ÷ 3) Mo CËVa (3 ÷ 6) BVHo$M òVo H$m?

nyU© g§»`m§À`m AmUIr OmoS>çm KoD$Z {dYmZmMo g_W©Z H$am.

~oarO Am{U JwUmH$mamVrb gmhM ©̀ JwUY_©

Imbrb {MÌo nmhm,

(a) (2 + 3) + 4 = 5 + 4 = 9

(b) 2 + (3 + 4) = 2 + 7 = 9

darb (a) Zwgma AmYr 2 Am{U 3 Mr ~oarO H$ê$Z ~oaOo_Ü ò 4 {_idy eH$Vm.

VgoM (b) Zwgma AmYr 3 Am{U 4 Mr ~oarO H$ê$Z Z§Va Ë`mV 2 {_idy eH$Vm.

XmoÝhtMr CËVao g_mZ ZmhrV H$m?

Amnë`mbm nwT>rbà_mUoXoIrb CËVao {_iy eH$Vrb.

(5 + 7) + 3 = 12 + 3 = 15 VgoM, 5 + (7 + 3) = 5 + 10 = 15

åhUyZ (5 + 7) + 3 = 5 + (7 + 3)

`mbm nyU© g§»`m§À`m ~oaOoMm gmhM ©̀ JwUY_© (associative property) åhUVmV.

CXmhaU 1 : 234, 197 Am{U 103 `m§Mr ~oarO H$am.

arV : 234 + 197 + 103 = 234 + (197 + 103)

= 234 + 300

= 534

2

3

 hm Ioi Ioim

Vwåhr Am{U Vw_Mm {_Ì hm Ioi Ioiy eH$Vm.

Vwåhr 1 Vo 10 _Yrb H$moUVrhr EH$ g§»`m åhUm. AmVm Vw_Mm {_Ì Ë`m_Ü ò 1 Vo 10

_Yrb EH$ g§»`m {_idob. `mZ§Va Vw_Mr nmir. Vwåhr AmirnmirZo XmoKohr Ioim. Omo

n{hë`m§Xm 100 n ª̀V nmoMob Vmo qOHo$b. Oa Vwåhm§bm gVV qOH$m`Mo Agob Va H$m` ẁŠVr

H$amb?

Ü`mZmV R>odm H$s,
~oarO H$aVmZm AmnU

g§»`m§Mm H$gm JQ> H$aVmo.
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            (a) (b)

Imbrb (AmH¥$Vr 2.1) à_mUo AmH¥$VrV XmIdboë`m JwUmH$mam§Mo {ZarjU H$am.

(a) Am{U (b) _Yrb {R>nŠ`m§Mr g§»`m _moOm. Vwåhm§bm H$m` {Xgob? XmoÝht_Ü ò {R>nŠ`m§Mr
g§»`m g_mZ Amho. (a) _Ü ò Amnë`m Odi àË òH$ Mm¡H$Q>rV (box) 2 × 3 {R>nHo$ AmhoV.
åhUyZ {R>nŠ`m§Mr EHy$U g§»`m (2 × 3) × 4 = 24

(b) _Ü ò àË òH$ Mm¡H$Q>rV 3 × 4 {R>nHo$ AmhoV. åhUyZ {R>nŠ`m§Mr EHy$U g§»`m = 2 × (3

× 4) = 24. AemàH$mao, (2 × 3) × 4 = 2 × (3 × 4). AemM nX²YVrZo Vwåhr (3 × 5) × 4 = 3 ×

(5 × 4) Amho, ho nmhÿ eH$Vm.
AgoM, (5 × 6) × 2 Am{U 5 × (6 × 2) Am{U (3 × 6) × 4 Am{U 3 × (6 × 4) gmoS>dyZ

nmhm.
`mbm nyU© g§»`m§À`m JwUmH$mamMm gmhM ©̀ JwUY_© åhUVmV.
{dMma H$am Am{U OmUyZ ¿`m.

H$moUVm JwUmH$ma gmonm Amho Am{U H$m?

(a) (6 × 5) × 3   ;k  6 × (5 × 3)

(b) (9 × 4) × 25  ;k  9 × (4 × 25)

CXmhaU 2 : 14 + 17 + 6 XmoZ nX²YVrZo gmoS>dm.
CH$b : 14 + 17 + 6 = (14 + 17) + 6 = 31 + 6 = 37,

14 + 17 + 6 = (14 + 6) + 217 = 20 + 17 = 37

òWo Vwåhr ~oaOoÀ`m gmhM ©̀ d H«$‘{ZanojVm `m JwUY_mªMm dmna Ho$bm Amho.
Vwåhm§bm Ago dmQ>Vo H$m H$s XmoÝhr JwUY_mªMm dmna H$ê$Z CXmhaU gmoS>dUo gmono
OmVo?

(a) (b)

AmH¥$Vr 2.1



nyU© g§»¶m

39

7 + 18 + 13 Am{U 16 + 12 + 4 gmoS>dm.

JwUmH$mamÀ¶m JwUY_m©Mm Cn¶moJ Imbrb àH$mamÀ`m àíZm§Mr CH$b H$aVmZm hmoVmo.

CXmhaU 3 : 12 × 35 gmoS>dm.
arV : 12 × 35 = (6 × 2) × 35 = 6 × (2 × 35) = 6 × 70 = 420

`m CXmhaUmV AmnU gmhM ©̀ JwUY_m©Mm Cn`moJ gdmªV bhmZ g_ g§» òbm
5 À`m {d^mÁ`mZo (multiple) JwUyZ gmoß`m nX²YVrZo CËVa H$mT>Ê`mgmR>r
Ho$bm Amho.

CXmhaU 4 : 8 × 1769 × 125 gmoS>dm.
8 × 1769 × 125 = 8 × 125 × 1769 (`m {R>H$mUr Vwåhr H$moUVm JwUY_©
dmnabm?)
= (8 × 125) × 1769 = 1000 × 1769 = 1769000

gmoS>dm.

25 × 8358 × 4 ; 625 × 3759 × 8

{dMma H$am, MMm© H$am Am{U {bhm.

(16 ÷ 4) ÷ 2 = 16 ÷ (4 ÷ 2) Amho H$m?
^mJmH$mamgmR>r gmhM ©̀ JwUY_© bmJy hmoVmo? Zmhr.
Vw_À`m {_Ìm§~amo~a MMm© H$am (28 ÷ 14) ÷ 2 Am{U 28 ÷ (14 ÷ 2) g_mZ Amho H$m?

JwUmH$mamMm ~oaOoda {dVaU JwUY‘© -

6 g|_r × 8 g|_r _mnmMm EH$ AmboI H$mJX (graph) ¿`m Á`mV 1 g|_r × 1 g|_rMo
Mm¡ag AmhoV.

Vw_À`mH$S>o EHy$U {H$Vr Mm¡ag AmhoV?
hr g§»`m 6 × 8 Amho H$m?
AmVm hm H$mJX 6 go_r × 5 go_r Am{U 6 go_r × 3 go_r _mnmÀ`m XmoZ ^mJm§V H$mnm,

Ogo AmH¥$Vr_Ü ò XmIdbo Amho.

à¶ËZ H$am

à¶ËZ H$am

ho H$am
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Mm¡agm§Mr g§»`m … 6 × 5 Amho H$m? Mm¡agm§Mr g§»`m … 6 × 3 Amho H$m?

XmoÝhr ^mJm§VyZ {_iyZ EHy$U {H$Vr Mm¡ag AmhoV?

darb Mm¡ag (6 × 5) + (6 × 3) AmhoV H$m? `mMm AW© 6 × 8 = (6 × 5) + (6 × 3) Amho
H$m? nU, 6 × 8 = 6 × (5 + 3) Amho. `mdê$Z Ago {XgVo H$m H$s, 6 × (5 + 3) = (6 × 5) +

(6 × 3)

AemàH$mao Vwåhm§bm CËVa {_iob 2 × (3 + 5) = (2 × 3) + (2 × 5)

`mbm JwUmH$mamMm ~oaOoda {dVaU JwUY_© (distributive property of multiplication

over addition) åhUVmV.

{dVaU JwUY_m©Mm Cn`moJ H$ê$Z, 4 × (5 + 8) ; 6 × (7 + 9) Am{U 7 × (11 + 9)

gmoS>dm.

{dMma H$am, MMm© H$am Am{U {bhm

AmVm Imbrb JwUmH$mamMr {H«$`m nmhm Am{U MMm© H$am H$s AmnU g§»`m§Mm JwUmH$ma H$aVmZm
~oaOo_Yrb JwUmH$mamMo {dVaU `m JwUY_m©Mm Adb§~ H$aVmo H$m?

425

136

2550 425 6

12750 425 30

×

×

×

42500 425 100×

57800 425 6 30 100× ( )+

(6 bdkb;ksa ls xq.kk)
(3 ngkb;ksa ls xq.kk)

(1 lkS ls xq.kk)

CXmhaU 5 : EH$m emioÀ`m CnmhmaJ¥hmV (Canteen) XaamoO XwnmaMo OodU (Lunch)
gmR>r ` 20 Am{U XwYmgmR>r ` 4 KoVmV. AemàH$mao AmnU 5 {Xdgm§V EHy$U
{H$Vr IM© H$aVm?

      CH$b : ho XmoZ nX²YVtZr gmoS>dVm òVo.
nX²YV 1 : OodUmgmR>r bmJUmar 5 {Xdgm§Mr aŠH$_ H$mT>m.

XwYmgmR>r bmJUmar 5 {Xdgm§Mr aŠH$_ H$mT>m.
Z§Va `m§Mr ~oarO H$am.
OodUmMm IM© = ` 5 × 20

XwYmMm IM© = ` 5 × 4

+

(6 EH$H$mZo JwUm)

(3 XeH$mZo JwUm)

(1 eVH$mZo JwUm)
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EHy$U IM© = ` (5 × 20) + ` (5 × 4) = ` (100 + 20)

= ` 120

nX²YV 2 : EH$m {XdgmMr EHy$U aŠH$_ H$mT>m.
_J Ë`mbm 5 Zo JwUm
EH$ {XdgmMm IM© (OodU + XyY) = ` (20 + 4)

5 {Xdgm§Mm EHy$U IM© = 5 × ` (20 + 4) = ` (5 × 24)

= ` 120

darb CXmhaUmdê$Z Ago {XgyZ òVo H$s,
5 × (20 + 4) = (5 × 20) + (5 × 4)

hm ~oaOo_Yrb JwUmH$mamÀ`m {dVaUmMm {Z`_ Amho.
CXmhaU 6 : {dVaU JwUY_m©Mm Cn`moJ H$ê$Z 12 × 35 gmoS>dm.
CH$b : 12 × 35 = 12 × (30 + 5) = 12 × 30 +12 × 5

= 360 + 60 = 420

CXmhaU 7 : gmoS>dm 126 × 55 + 126 × 45

CH$b : 126 × 55 + 126 × 45 = 126 × (55 + 45) =  126 × 100

=  12600

{dVaU JwUY_m©Mm Cn`moJ H$ê$Z, 15 × 68, 17 × 23 Am{U 69 × 78 + 22 × 69 Mr CËVao
H$mT>m.

A{dH$mar Ad`d (~oarO Am{U JwUmH$mamgmR>r)

nyU© g§»`m g§M hm Z¡g{J©H$ g§»`m g§MmhÿZ H$emàH$mao {^ÝZ Amho? `mMo H$maU åhUOo Ho$di
nyU© g§»`m g§Mm_Ü ò "eyÝ`' AgVmo. `m "eyÝ`m'Mr ~oaOo_Ü ò {deof ŷ{_H$m AgVo. `mMm AW©
bmdÊ`mMm à`ËZ H$am.

Imbrb VŠVm Vwåhm§bm Cn`moJr R>aob.

Ooìhm Vwåhr H$moUË`mhr nyU© g§» òV eyÝ` {_idVm Voìhm H$m` CËVa {_iVo?

CËVa åhUOo VrM nyU© g§»`m AgVo. Ë`m_wioM eyÝ`mbm nyU© g§»`m§À`m ~oaOogmR>r A{dH$maH$

(identity element) åhUVmV. eyÝ`mbm nyU© g§»`m§gmR>r ~oaOoMm A{dH$maH$ (additive identity)
XoIrb åhUVmV.

7 + 0 = 7

5 + 0 = 5

0 + 15 = 15

0 + 26 = 26

0 + ..... = .....

à¶ËZ H$am
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JwUmH$mamÀ`m {H«$ òVXoIrb eyÝ`mMr {deof ŷ{_H$m AgVo. H$moUË`mhr nyU© g§» òbm eyÝ`Zo
JwUë`mg JwUmH$ma eyÝ`M òVmo.

CXmhaUmW©, Imbrb JwUmH$ma nmhm.
5 × 6 = 30

5 × 5 = 25 JwUmH$mamMr CËVao H$em nX²YVrZo KQ>VmV?
5 × 4 = 20 Vwåhm§bm EImXo à{Vê$n {XgVo H$m?
5 × 3 = 15 eodQ>À`m nm`ar~X²Xb H$moUVo AZw_mZ H$mT>Vm òB©b?
5 × 2 = ... ho à{Vê$n BVa nyU© g§»`m§gmR>r `mo½` Amho H$m?
5 × 1 = ... XmoZ doJdoJiçm nyU© g§»`m KoD$Z OmUyZ ¿`m.
5 × 0 = ?

Vwåhm§bm nyU© g§»`m§gmR>r ~oaOoMm A{dH$maH$ {_imbm. H$moUË`mhr nyU© g§» òV eyÝ` {_idë`mg
qH$dm eyÝ`mV H$moUVrhr nyU© g§»`m {_idë`mg CËVa Vr g§»`m òVo. hrM n[apñWVr nyU©
g§»`m§gmR>r JwUmH$ma A{dH$maH$ (multiplicative identity) gmR>r Amho.

AmnU `mo½` {dMma H$arV AmhmV H$s, nyU© g§»`m§À`m JwUmH$mamgmR>r, 1 hm A{dH$mar Ad`d
qH$dm A{dH$maH$ Amho. Xwgè`m eãXm§V gm§Jm`Mo Va nyU© g§»`m§gmR>r 1 hm JwUmH$ma A{dH$maH$
Ad`d Amho.

CXmhaUg§J«h 2.2

1. `mo½` H«$_ bmdyZ ~oarO H$am.
(a) 837 + 208 + 363 (b) 1962 + 453 + 1538 + 647

2. `mo½` H«$_ bmdyZ JwUmH$ma H$am.
(a) 2 × 1768 × 50 (b) 4 × 166 × 25

(c) 8 × 291 × 125 (d) 625 × 279 × 16

(e) 285 × 5 × 60 (f) 125 × 40 × 8 × 25

3. Imbrb àË òH$mMo CËVa H$mT>m.
(a) 297 × 17 + 297 × 3 (b) 54279 × 92 + 8 × 54279

(c) 81265 × 169 – 81265 × 69 (d) 3845 × 5 × 782 + 769 × 25 × 218

4. `mo½` JwUY_m©Mm Cn`moJ H$ê$Z JwUmH$ma H$am.
(a) 738 × 103 (b) 854 × 102      (c) 258 × 1008 (d) 1005 × 168

7 × 1 = 7

5 × 1 = 5

1 × 12 = 12

1 × 100 = 100

1 × ...... = ......
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5. EH$m Q>°ŠgrMmbH$mZo Ë`mÀ`m JmS>rV gmo_dmar 40 brQ>a noQ´>mob Q>mH$bo. Xwgè`m {Xder Ë`mZo 50 brQ>a
noQ´>mob Q>mH$bo. Oa noQ´>mobMm Xa à{VbrQ>a ` 44 Agob Va Ë`mZo noQ´>mobda {H$Vr IM© Ho$bm?

6. EH$ XyYdmbm EH$m hm°Q>obgmR>r gH$mir 32 brQ>a XyY XoVmo Am{U
g§Ü`mH$mir 68 brQ>a XyY XoVmo. Oa XwYmMm Xa `45 à{VbrQ>a Amho,
Va XyYdmë`mbm amoO {H$Vr én ò {_iVrb?

7. Imbrb OmoS>çm bmdm.
(i) 425 × 136 = 425 × (6 + 30 +100) (a) JwUmH$mamMr H«$_{ZanojVm

(ii) 2 × 49 × 50 = 2 × 50 × 49 (b) ~oaOoMr H«$_{ZanojVm

(iii) 80 + 2005 + 20 = 80 + 20 + 2005 (c) ~oaOo_Yo JwUmH$mamMo {dVaU

2.5 nyU© g§»`m§_Ü ò AmH¥${V~§Y

AmnU g§»`m§Zm {R>nŠ`m§À`mX²dmao àmW{_H$ AmH$ma XoD$. (1) EH$ aofm (2) EH$ Am`V (3) EH$
Mm¡ag (4) EH$ {ÌH$moU. àË òH$ g§» òbm ̀ m AmH$mam§n¡H$s EH$ AmH$mamV ~gdm`Mo Amho. BVa H$moUVm
AmH$ma Zgmdm.

l àË òH$ g§»`m EH$m aofoÀ`m ê$nmV ~gdVm òVo.

2 hr g§»`m nwT>rbàH$mao XmIdVm òVo.

3 hr g§»`m nwT>rbàH$mao XmIdVm òVo.

BË`mXr.

l H$mhr g§»`m Am`VmÀ`m ê$nmV XmIdVm òVmV. CXmhaUmW©-

6 hr g§»`m Am`VmÀ`m ê$nmV XmIdVm òD$ eH$Vo.

bjmV ¿`m H$s BWo 2 Amoir Am{U 3 ñV§̂  AmhoV.

l H$mhr g§»`m Ogo H$s 4 Am{U 9 `m Mm¡agmÀ`m ê$nmVXoIrb XmIdVm òVmV.

l H$mhr g§»`m {ÌH$moUmÀ`m ê$nmVXoIrb XmIdVm òVmV. CXmhaUmW©-

bjmV ¿`m H$s {ÌH$moUmÀ`m XmoZ ~mOy g_mZM Agë`m nm{hOoV. ImbÀ`m ~mOyZo gwédmV
H$ê$Z Amoit_Ü ò {R>nŠ`m§Mr g§»`m 4, 3, 2, 1 AemàH$mao Agob. gdmªV daÀ`m AmoirV
Ho$di EH$M {R>nH$m òB©b.
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VŠVm nyU© H$am.

1. H$moUH$moUË`m g§»`m \$ŠV aofoÀ`m ñdê$nmV XmIdVm òVmV?

2. H$moUË`m g§»`m Mm¡agmÀ`m ñdê$nmV XmIdë`m OmD$ eH$VmV?

3. H$moUË`m g§»`m Am`VmÀ`m ñdê$nmV XmIdVm òVmV?

4. n{hë`m gmV {ÌH$moUr g§»`m {bhm. (Á`m {ÌH$moUmÀ`m ñdê$nmV _m§S>Vm òVmV.) 3, 6, .....

5. H$mhr g§»`m XmoZ Am`Vm§À`m ê$nmV XmIdVm òVmV. CXmhaUmW©,

vFkok

Aer H$_rV H$_r nmM CXmhaUo {bhm.

AmH¥${V~§Y nmhUo

AmH¥${V~§Y nm{hë`m_wio Amnë`mV gaiê$n XoÊ`mÀ`m {H«$ òV _mJ©Xe©Z {_iy eH$Vo.

Imbrb CXmhaUm§Mm Aä`mg H$am.

(a) 117 + 9 = 117 + 10  – 1 = 127 – 1 = 126

(b) 117 – 9 = 117 – 10  + 1 = 107 + 1 = 108

g§»¶m aofm Am¶V dJ© {ÌH$moU

2 hmo Zmhr Zmhr Zmhr

3 hmo Zmhr Zmhr hmo

4 hmo hmo hmo Zmhr

5 hmo Zmhr Zmhr Zmhr

6

7

8

9

10

11

12

13

1] ,d

fo'k
s"k

la[;
m Amho.

à¶ËZ H$am
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(c) 117 + 99 = 117 + 100 – 1 = 217 – 1 = 216

(d) 117 – 99 = 117 – 100 + 1 = 17 + 1 = 18

hr ê$nm§Vao 9, 99, 999 ...... AemàH$maÀ`m g§»`m§Mr ~oarO-dOm~mH$s_Ü ò gmhmæ`
H$aVmV H$m?

`m {R>H$mUr AmUIr EH$ ê$nm§Va {Xbo Amho.
(a) 84 × 9 = 84 × (10 – 1)

(b) 84 × 99 = 84 × (100 – 1)

(c) 84 × 999 = 84 × (1000 – 1)

Vwåhm§bm EImXçm g§» òbm 9, 99, 999 ....... `m àH$maÀ`m g§»`m§er JwUÊ`mMr gmonr
ẁŠVr {_iVo H$m?

Aem gmoß`m ẁŠË`m Amnë`mbm AZoH$ J{UVo Vm|S>r gmoS>dÊ`mg _XV H$aVmV.

Imbrb ê$nm§Vao Vwåhm§bm EImXçm g§ñWobm 5 qH$dm 25 qH$dm 125 Zo JwUÊ`mMr EH$ _Ooera
nX²YV XmIdVmV.

(Vwåhr `m g§»`m AmUIr dmT>dy eH$Vm.)

(i) 96 × 5 = 96 × 
10

2
 = 
960

2
 = 480

(ii) 96 × 25 = 96 × 
100

4
 = 
9600

4
 = 2400

(iii) 96 × 125 = 96 × 
1000

8
 = 
96000

8
 = 12000 .................

Imbr {Xbobm AmH¥${V~§Y H$m¶ gwMdVmo?

(i) 64 × 5 = 64 × 
10

2
 = 32 × 10 = 320 × 1

(ii) 64 × 15 = 64 × 
30

2
 = 32 × 30 = 320 × 3

(iii) 64 × 25 = 64 × 
50

2
 = 32 × 50 = 320 × 5

(iv) 64 × 35 = 64 × 
70

2
 = 32 × 70 = 320 × 7 .................

CXmhaUg§J«h 2.3

1. Imbrbn¡H$s H$moUË`m CXmhaUm§VyZ 0 {_iV Zmhr?

(a) 1 + 0       (b) 0 × 0       (c) 
0

2
       (d) 

10 -10

2

2. Oa XmoZ nyU© g§»`m§Mm JwUmH$ma eyÝ` Amho, Va AmnU Ago åhUy eH$Vmo H$m H$s XmoZn¡H$s EH$ qH$dm
XmoÝhrhr eyÝ` Agë`m nm{hOoV? CXmhaU XoD$Z CËVa ñnîQ>> H$am.
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3. Oa XmoZ nyU© g§»`m§Mm JwUmH$ma 1 Amho Va `m§n¡H$s EH$ qH$dm XmoÝhrhr 1 hr g§»`m Agbr nm{hOo,
Ago AmnU åhUy eH$Vmo H$m? CXmhaU XoD$Z ñnîQ> H$am.

4. {dñVma nX²YVr OmUyZ ¿`m.
(a) 728 × 101 (b) 5437 × 1001 (c) 824 × 25

(d) 4275 × 125 (e) 504 × 35

5. Imbrb AmH¥${V~§YmMm Aä`mg H$am.
1 × 8 + 1 = 9

12 × 8 + 2 = 98

123 × 8 + 3 = 987

1234 × 8 + 4 = 9876

12345 × 8 + 5 = 98765

`mÀ`m nwT>rb XmoZ Q>ßno {bhm. Ago AmH¥${V~§Y H$emàH$mao H$m_ H$aVmV, ho Vwåhr gm§Jy eH$mb H$m?

(g§Ho$V … 12345 = 11111 + 1111 + 111 + 11 + 1)

AmnU H$moUVr MMm© Ho$br?

1. 1, 2, 3 ....... Aem g§»`m Ë`m§Mm Cn`moJ AmnU _moOÊ`mgmR>r H$aVmo Ë`m§Zm Z¡g{J©H$ g§»`m
åhUVmV.

2. Oa Vwåhr EImXçm Z¡g{J©H$ g§» òV 1 {_idbmV Va Vwåhm§bm bJVMr nwT>Mr g§»`m {_iVo Am{U
1 dOm Ho$bm Va bJVMr _mJMr g§»`m {_iVo.

3. àË òH$ Z¡g{J©H$ g§» òMr nwT>Mr g§»`m AgVo. 1 hr g§»`m gmoSy>Z àË òH$ Z¡g{J©H$ g§» òbm _mJMr
g§»`m AgVo.

4. Oa Z¡g{J©H$ g§»`mg§MmV 0 dmT>dbm Va Amnë`mbm nyU© g§»`m g§M {_iVmo. Aem àH$mao 0, 1,
2, 3,....... `m g§»`m§Zr nyU© g§»`mg§M ~ZVmo.

5. àË òH$ nyU© g§» òbm nwT>Mr g§»`m AgVo. "0' gmoSy>Z BVa àË òH$ nyU© g§» òbm _mJMr g§»`m AgVo.

6. gd© Z¡g{J©H$ g§»`m `m nyU© g§»`mXoIrb AgVmV. na§Vw gd© nyU© g§»`m `m Z¡g{J©H$ g§»`m ZmhrV.

7. AmnU EH$ aofm KoD$Z Ë`mda EH$ q~Xy KoD$Z Ë`mbm "0' Zo {ZX}{eV H$aVmo. _J "0' À`m COdrH$S>o
g_mZ A§Vamda q~Xy XoVmo. `m§Zm H«$_e… 1, 2, 3,....... Zo {ZX}{eV Ho$ë`mg Amnë`mbm EH$
g§»`maofm {_iVo. {OÀ¶mda nyU© g§»¶m XmI{dë¶m OmVmV. Ë`mda AmnU ~oarO, dOm~mH$s,
JwUmH$ma, ^mJmH$ma Aem AZoH$ {H«$`m H$ê$ eH$Vmo.

8. g§»`maofoda COdrH$S>o OmV am{hë`mg ~oarO {_iV OmVo. VgoM, S>mdrH$S>o OmV am{hë`mg
dOm~mH$s {_iV OmVo. eyÝ` (0) nmgyZ gwédmV Ho$ë`mg g_mZ A§Vamdarb Q>ßß`mda Amnë`mbm
JwUmH$ma {_iVmo.
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9. XmoZ nyU© g§»`m§Mr ~oarO EH$ nyU© g§»`mM AgVo. VgoM, XmoZ nyU© g§»`m§Mm JwUmH$ma Zoh_r EH$
nyU© g§»`m AgVmo. nyU© g§»`m§Mr ~oarO Am{U JwUmH$ma Zoh_r g§d¥ËV AgVmo. na§Vw nyU© g§»`m§Mr
dOm~mH$s Am{U ^mJmH$ma g§d¥ËV ZgVmo.

10. eyÝ`mZo ^mJ XoUo ì¶m»¶o¶ Zmhr.

11. eyÝ`mbm nyU© g§»`m§À`m ~oaOogmR>r A{dH$maH$ (identity clement) åhUVmV. "1' `m nyU©
g§» òbm JwUmH$mamgmR>r A{dH$maH$ åhUVmV.

12. Vwåhr XmoZ nyU© g§»`m§Zm H$moUË`mhr H«$_mZo {_idy eH$Vm. Vwåhr XmoZ nyU© g§»`m§Zm H$moUË`mhr H«$_mZo
JwUy eH$Vm. AmnU Ago åhUVmo H$s, nyU© g§»`m§gmR>r ~oarO d JwUmH$ma H«$‘{Zanoj (commutative)
AmhoV.

13. JwUmH$ma Am{U ~oarO ¶m§Mm gmhM¶© (Associative) {Z¶‘ nyU© g§»`m§gmR>r bmJy nS>Vmoo.

14. JwUmH$mamMm ~oaOoda {dVaU JwUY‘© nyU© g§»¶m§gmR>r bmJy nS>Vmo.

15. nyU© g§»`m§Mo H«$_{ZanojVm, gmhM¶© Am{U {dVaU ho JwUY_© gmoß`m nX²YVrZo gmoS>dÊ`mgmR>r
Cn ẁŠV AmhoV. AmnU ZH$iV ho dmnaV AgVmo.

16. g§»`m§Mr ê$nm§Vao hr Ho$di J_Vrera ZgVmV, Va Vm|S>r CXmhaU gmoS>dÊ`mgmR>r Cn ẁŠV AgVmV.
g§»`m§Mo JwUY_© g_OyZ KoÊ`mgmR>r _XV H$aVmV.


